

$$\begin{aligned}
 \vec{u} &= \frac{\partial}{\partial x} (x, y, f(x, y)) \Big|_{(x_0, y_0)} = \left(1, 0, \frac{\partial f}{\partial x}(x_0, y_0) \right) \\
 \vec{v} &= \frac{\partial}{\partial y} (x, y, f(x, y)) \Big|_{(x_0, y_0)} = \left(0, 1, \frac{\partial f}{\partial y}(x_0, y_0) \right)
 \end{aligned}
 \left. \vphantom{\begin{aligned} \vec{u} \\ \vec{v} \end{aligned}} \right\} \text{are tangent to the graph of } f(x, y) \text{ @ } (x_0, y_0)$$

$\Rightarrow \vec{n} = \vec{u} \times \vec{v}$ is normal to the tangent plane

$$\vec{n} = \begin{vmatrix} \hat{x} & \hat{y} & \hat{z} \\ 1 & 0 & \frac{\partial f}{\partial x} \\ 0 & 1 & \frac{\partial f}{\partial y} \end{vmatrix} = -\frac{\partial f}{\partial x}(x_0, y_0) \hat{x} - \frac{\partial f}{\partial y}(x_0, y_0) \hat{y} + \hat{z}$$

We know the point $(x_0, y_0, f(x_0, y_0))$ is on the tangent plane.

$$\Rightarrow (x - x_0, y - y_0, z - f(x_0, y_0)) \cdot \vec{n} = 0 \text{ for any } (x, y, z) \text{ on the tangent plane.}$$

$$\Rightarrow -\frac{\partial f}{\partial x}(x_0, y_0)(x - x_0) - \frac{\partial f}{\partial y}(x_0, y_0)(y - y_0) + (z - f(x_0, y_0)) = 0$$

$$\Rightarrow z = \frac{\partial f}{\partial x}(x_0, y_0)(x - x_0) + \frac{\partial f}{\partial y}(x_0, y_0)(y - y_0) + f(x_0, y_0)$$

$$\text{63 } w = \frac{\partial f}{\partial x}(x_0, y_0, z_0)(x - x_0) + \frac{\partial f}{\partial y}(x_0, y_0, z_0)(y - y_0) + \frac{\partial f}{\partial z}(x_0, y_0, z_0)(z - z_0) + f(x_0, y_0, z_0)$$

$$\text{64 } 1. (x_0, y_0, f(x_0, y_0)) = (2, 1, 5)$$

$$\frac{\partial f}{\partial x} = 2x \Rightarrow \frac{\partial f}{\partial x}(2, 1) = 4 \quad \neq \quad \frac{\partial f}{\partial y} = 2y \Rightarrow \frac{\partial f}{\partial y}(2, 1) = 2$$

$$\Rightarrow z = 4(x - 2) + 2(y - 1) + 5 = 4x + 2y - 5$$

Omit 2. & 3.

166 For the point $(3\sqrt{2}, \frac{3}{2}, 1)$:

$$z = \pm \sqrt{36 - x^2 - y^2} \quad \text{since } z = 1 > 0 \text{ take } f(x, y) = \sqrt{36 - x^2 - y^2}$$

$$f(3\sqrt{2}, \frac{3}{2}) = \sqrt{36 - (3\sqrt{2})^2 - (\frac{3}{2})^2} = \frac{3}{2}\sqrt{6}$$

$$\frac{\partial f}{\partial x} = \frac{1}{2} (36 - x^2 - y^2)^{-\frac{1}{2}} (-2x) = -x (36 - x^2 - y^2)^{-\frac{1}{2}}$$

$$\frac{\partial f}{\partial x} (3\sqrt{2}, \frac{3}{2}) = \frac{-3\sqrt{2}}{\frac{3}{2}\sqrt{6}} = -\frac{2}{\sqrt{3}}$$

$$\frac{\partial f}{\partial y} = -y (36 - x^2 - y^2)^{-\frac{1}{2}} \Rightarrow \frac{\partial f}{\partial y} (3\sqrt{2}, \frac{3}{2}) = \frac{-\frac{3}{2}}{\frac{3}{2}\sqrt{6}} = -\frac{1}{\sqrt{6}}$$

$$\text{Tangent plane: } z = -\frac{2}{\sqrt{3}}(x - 3\sqrt{2}) - \frac{1}{\sqrt{6}}(y - \frac{3}{2}) + \frac{3}{2}\sqrt{6}$$

166 1. $f(x, y) = \sqrt{x^2 + y^2} \Rightarrow \frac{\partial f}{\partial x} = x(x^2 + y^2)^{-\frac{1}{2}} \quad \frac{\partial f}{\partial y} = y(x^2 + y^2)^{-\frac{1}{2}}$

$$\nabla f = \left(\frac{\partial f}{\partial x}, \frac{\partial f}{\partial y} \right) = \left(\frac{x}{\sqrt{x^2 + y^2}}, \frac{y}{\sqrt{x^2 + y^2}} \right)$$

167 1. $\frac{\partial f}{\partial \vec{u}} = \nabla f \cdot \vec{u} \quad @ (2, 1)$

$$\nabla f(2, 1) = \left(\frac{2}{\sqrt{4+1}}, \frac{1}{\sqrt{4+1}} \right) = \left(\frac{2}{5}, \frac{1}{5} \right)$$

$$\frac{\partial f}{\partial \vec{u}}(2, 1) = \nabla f(2, 1) \cdot \left(\frac{3}{5}, \frac{4}{5} \right) = \left(\frac{2}{5}, \frac{1}{5} \right) \cdot \left(\frac{3}{5}, \frac{4}{5} \right) = \frac{2}{5}$$

167 1. $\frac{\partial f}{\partial \vec{a}} = \nabla f \cdot \vec{a} = |\nabla f| |\vec{a}| \cos \theta$ is greatest when $\theta = 0$

\Rightarrow direction of ∇f & \vec{a} are the same

2. $\frac{\partial f}{\partial \vec{a}} = |\nabla f| |\vec{a}| \cos \theta$ but $|\vec{a}| = 1$

$\Rightarrow \frac{\partial f}{\partial \vec{a}} = |\nabla f|$ @ $\theta = 0$

3. $\nabla f \cdot \vec{a} = 0$ iff $\nabla f \perp \vec{a}$

4. $\frac{\partial f}{\partial (-\vec{a})} = |\nabla f| \cos \theta = -|\nabla f| \cos(\theta + \pi) = -\frac{\partial f}{\partial \vec{a}}$

169 $\nabla T = \left(\frac{\partial T}{\partial x}, \frac{\partial T}{\partial y}, \frac{\partial T}{\partial z} \right) = (y, x, -2z)$

$\nabla T(3, 4, 5) = (4, 3, -10)$

$\Rightarrow \vec{a} = \frac{1}{\sqrt{4^2 + 3^2 + (-10)^2}} (4, 3, -10) = \left(\frac{4}{5\sqrt{5}}, \frac{3}{5\sqrt{5}}, -\frac{2}{\sqrt{5}} \right)$

170 $g(x, y, z) = f(x, y) - z$

1. $\nabla g = \left(\frac{\partial f}{\partial x}, \frac{\partial f}{\partial y}, -1 \right)$

2. ∇g is normal to level sets of g

$g(x, y, z) = 0 = f(x, y) - z \Rightarrow z = f(x, y)$

$\Rightarrow \nabla g(x_0, y_0, f(x_0, y_0))$ is normal to the graph of $f(x, y)$

$$3. \quad \nabla g(x_0, y_0, f(x_0, y_0)) \cdot (x - x_0, y - y_0, z - f(x_0, y_0)) = 0$$

$$\Rightarrow \frac{\partial f}{\partial x}(x_0, y_0)(x - x_0) + \frac{\partial f}{\partial y}(x_0, y_0)(y - y_0) - z + f(x_0, y_0) = 0$$